


1- What does FFF stand for?
d- Female education , family spacing, food supplements
B- Female education, female feeding, family spacing
C- Family education, food supplements, family spacing
D- Food education, family spacing, female education
ANSWER: A
2) An accurate and early detection of disability called?
A) Prognosis.
B) Investigation.
C)Rehabilitation.
D) Secondary prevention.
E) Primary prevention.

ANSWER: D

3) Tertiary prevention (rehabilitation) include all the followings EXCEPT?
A) Measures to compensate for the limitation or loss of function.
B) Measures to facilitate social adjustment or readjustment.

C) Services provided to enable the handicapped to make maximum use of their
abilities.

D) Measures to achieve the highest possible degree of "independence".
E) Measures to eradicate the biochemical or anatomical abnormality.
Answer : E
4) Which one of the plays a significant role in early detection of disability?
A) Mother
B) Child health centers




C)Worker
D) Family
E) Nurse

Answer: A

5) Which one of the followings contraceptive considered as a traditional method?

A) Male sterilization
B) Norplant

C) Female condom
D) Coitus Interruptus

E) IUD

Answer: D

6) Loss or abnormality of psychological or anatomical structure or function referred to

as?

A) Rehabilitation
B) Handicap
C)impairment
D) Disability

E) Mental retardation

7) The dose of DPT vaccine is?
A) 0.5 ml

B) 0.05 ml

C)1lml

D) 0.005 ml

E) 5 ml

Answer: C




Answer: A
8) The following are TRUE about growth indicators, EXCEPT?
a Weight-for-age can't indicate obesity

b Length/height-for-age can't indicate effect of an acute diarrheal episode on child's
growth

C. Weight for age can't be used for refugee children with unknown age
d. weight-for-length ,/heights to indicate obesity
e. Weight-for-age may not be accurate if edema present
Answer: D

9) The temperature required for proper storage of measles vaccine at the level of local
immunization centres is?

a-20to+8 C
b. Zero to -8C
C+2to+8C
d-2to+4 C
e-15t0-30C
Answer: C

10) The following are factors that affect the health of children negatively, EXCEPT?

A) Birth order of third or more.
B) LOW birth weight.
C)Mother with low education.
D) Sex of the child.

E) Birth spacing of 2-4 years.

Answer: E




11) The cause and probability of dying differ widely between genders. Which of the
following rates is the more likely to verify this statement? Select one

a Infant Mortality Rate
b sex Specific Death Rate
c. Crude Death Rate
d. Cause Specific Death Rate
e Maternal Mortality Rate
Answer: B

12)Probability of dying between 28 days and exactly one year of age expressed per
1,000 live births:

A Infant mortality
B Post neonatal mortality
C child mortality
D pre neonatal mortality
ANSWER: B
13)All are peri-natal causes of disabilities except:
A Drug
B Premature infant
C Infection
D Brain haemorrhage
E Teratogen
ANSWER: E
14) impact of consuming contaminated water is :
A Waterborne disease They took a lecutre about sanitation

last year, we did not.
B Water -washed disease
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ANSWER: A
15) special success of rehabilitation depends on:
A religion
B age
C type of home
D personal factors
E belief implicitly in success

ANSWER: A
16) Distance between last row and wall should be
A more than 1.5 m
B more than 6 m
C not more than 6 m
D0.8m
E none of the above

ANSWER: c
17) Turbidity Of Water Can Be Removed By EXCEPT:
A Boiling

They took a lecutre about sanitation

B. Chlorination last year, we did not.
C Coagulation
D. Filtration
E Aeration

ANSWER: E

18) The Most Common And Most Practical Disinfecting Agent For Drinking Water
are the following EXCEPT :

A Ozone They took a lecutre about sanitation
last year, we did not.
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B Silver
C Uv Rays
D CALCIUM
E Chlorine
ANSWER: D

19) consuming contaminated water means?

They took a lecutre about sanitation

a water-washed diseases last year, we did not.

b waterborne disease
¢ water based diseases'

ANSWER: B
20) destroying all types of microorganisms is called:

A Sterilization

— They took a lecutre about sanitation
B Sanitization last year, we did not.

C Disinfection
D Hygiene

ANSWER: A
21) What causes food poisoning or intoxication :

N—
Scariasis They took a lecutre about sanitation

B Salmonella last year, we did not.

C Cl.botulinum
D Amoebiasis

ANSWER: C
22) The following are FALSE regarding child's health, EXCEPT?

A) They are considered a vulnerable segment of the population.
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B) Childhood is characterized by steady growth and development.
C)Most diseases are hard to prevent and treat.
D) The child health indicators in a country do not reflect its level of development.
E) Children have mature immunity and are less prone to infections.
Answer: A

23) Loss or abnormality of psychological or anatomical structure or function
referred to as?

A) Rehabilitation
B) Handicap
C)impairment
D) Disability
E) Mental retardation
Answer: C
24) Which one of the following statements is a contraindication to immunizations?
A) History of Jaundice at birth
B) Recent receipt of blood transfusion
C)Child breast fed
D) History Of anaphylactic reaction following ingestion Of eggs
E) Chronic disease of the heart, lungs, kidneys or liver

Answer: B

25) All the followings about EPI Objectives are correct EXCEPT?
A) To maintain immunization safety
B) To reduce the incidence of whooping coughs, mumps and rubella

C)To prevent severe forms of TB such as meningitis and pulmonary TB




D) To prepare for introduction of new vaccines according to disease burden and
cost effectiveness

E) To eradicate neonatal tetanus
Answer: C
26) All the following methods of vaccine administration are correct EXCEPT?
A) Measles vaccine: sub-cutaneous injection
B) BCG vaccine: intra-dermal injection in left arm
C) Hepatitis BV: intra-muscular injection
D) MMR vaccine: intra-muscular injection
E) DPT vaccine: intra-muscular injection
Answer: D
27) Which one of the plays a significant role in early detection of disability?
A) Mother
B) Child health centers
C)Worker
D) Family
E) Nurse

Answer: A
28) All are true about Lifetime risk of maternal death, EXCEPT?

A) Probability measure.

B) Measured for women age 15-49.
C)lt is high in IOW income countries.
D)It is low in a high-fertility setting.
E) Presented as 1 in X.

Answer: D
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29) What is the normal height of a 4 year old child?
A 25cm
B50cm /0.5 m
C90cm
D100cm/1m
ANSWER: D
30) A BMI for age chart shows a reading above 1 what does that indicate?
A Underweight
B possible risk of overweight
C overweight
D obese

ANSWER: B
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